STEELCRAFT

INSTALLATION INSTRUCTIONS
TAILLIGHT GUARD PART # 34080
2004 NISSAN TITAN

PARTS LIST

(1)- TAILLIGHT GUARD PASSENGER SIDE
(1)- TAILLIGHT GUARD DRIVER SIDE

(2)- SUPPORT BRACKETS

(2)- #6 x 1/2" SCREWS (4)- 6mm x 20mm SCREWS (4)- 6 mm FLAT WASHERS
(2)- 1/4 x 3/4 SCREWS (2)- 1/4 NUTS (2)- 1/4 WASHERS

CUSTOMER SERVICE TOLL FREE(388) 261-4537




